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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,

1. Answer the | following questions/ Fill in the
blanks : 1x7=7
oo SPPTTRE e /A 5% ofRd = ¢

(a) What is the main role of photosystem-~
In?
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(c)

@

(e)

(g)

Cell sap is
@FFAER |

How many different types of amino acid
constitute proteins in plants ?
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Phytohormones are

PR TRIR TR |

What is turgor pressure ?
“F1e b9l e

Photorespiration is also known as ___,

AT e Tl T

Which mineral element is commonly
present in ‘cytochrome’ and ferredoxin’ p
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2. Answer the following questions : 2x4=8

weTS Al STy Be i o

(@) What are polysaccharides ? Name two

main polysaccharides found in plants.

WIRR 2 Sfers CoIRT i 1Ry T2iaig
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(b) Distinguish between osmotic pressure

and turgor pressure,
S St w1 P b1of strefey o |

() In which part of the chloroplast, light
reaction of photosynthesis takes place ?
What are the products of light reaction
6f photosynthesis?
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Distinguish between transpiration and

guttation.

T oI R S 2N B |

3 ‘Answér any three of the following questions :

3x3=9

©oIR SPTIRA #1 Rtz fofbr Bes faa 2

(a) What are antitranspirants ? Give some

(b)

examples of it. 2+1=3

BT SAfSRIGRER {2 T (oI Sreger
faan
What is nastic movement ? Name three

different nastic movements with

examples. 1+2=3
IS vory 0 Wq@m e SRRy Wi
5E I Bt
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(c)

(@

(e)

‘based on ‘carrier concept’.

In which form mineral salts are absorbed
by plant ? What do you mean by active
and passive salt ébsorptions ? Name two
possible mechanisrhs of salt absorption

1+1+1=3

YT > o1 4w st cotret e 2 e s
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What are alkaloids ? Mention the
functions of alkaloid. 1+2=3

_ u‘lﬁmvsﬁs‘? GG PR B 7y |

Write about the practical application of

vernalization.

.W«WMﬁmml
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' what do you mean by CAM ? How does the
° metabolism take place in the succulent
| plants ? Narrate the significance of CAM.

2+4+2=8

CAM Ffecet R g 2 37t Sexrer B Rstiee caemee
=0 ? CAM T Sl 5737 it |

Or / 9q9q!

What is auxin ? Give its physiological roles
in higher plants. 2+6=8

S & 2 Bos 3911 Tfrre TR =R giwrnE |

What are different sources of nitrogen

for higher plants ? Write briefly about the

Or/ 4

Write about the chemical structure of
enzymes. Discuss the mechanism of enzyme
action. 3+5=8

B IR 1o Raca Bt S o
F e ST 11 |

biological nitrogen fixation. 2+6=8
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